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Part A: Grammar 

Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, 
marked (1),(2),(3) and (4). Choose the one word or phrase that best completes the sentence, then mark the correct 
choice on your answer sheet. 
 

1- As a child, Ethel would often daydream about travelling forward in time to … very different from 
the one she lived in. 

1) the world 2) a world  3) world 4) that world  
2- “One of the foundational elements of Chomsky’s work is that we have … in our head, which 

underlies our processing of language,” explains David Poeppel, one of the authors of the study. 
1) an grammar 2) grammar  3) a grammar  4) the grammar  

3- I did let her in on the secret because she was so talented in acting a confidant that I had … reason to 
believe that she would keep my secret. 

1) many 2) all 3) every 4) each  
4- Ruthless poachers hunt … for the valuable ivory of its tusks and thus threaten the population of the 

animal. 
1) an elephant  2) elephant  3) the elephant 4) elephants 

5- Serious … his injury appeared to be, he insisted that he could continue the match, and so he did.  
1) but  2) although  3) even though 4) though  

6- Nowadays fewer and fewer parents allow their children to leave … in pursuit of other goals.  
1) school  2) the school  3) at school  4) in school 

7- I was furious at not having been invited to the meeting but he contented himself by simply saying … 
he thought I was coming anyhow. 

1) that  2) owing to 3) because of  4) seeing as            
8- Simon Weston and Joe Barnes were actually twins who had been adopted by different families when 

they were born and … of them … about the other until they were almost forty years old. 
1) any - knew  2) neither - knew  3) none - didn’t know  4) either - knew  

9- No one would deny financial benefits of a thriving tourist industry. Yet, … are often blamed for 
changing the character of a place.  

1) the tourists  2) tourists 3) tourist 4) the tourist           
10- … Henry was the youngest son of the King, his great wisdom and bravery put him next in line to the throne.  

1) If   2) Although  3) Despite 4) However  
 

Part B: Vocabulary  

Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, 
marked (1),(2),(3) and (4). Choose the one word or phrase that best completes the sentence, then mark the correct 
choice on your answer sheet. 
 

11- More recently in Eastern Europe, the … of governments from communist to democratic was guided by 
exceptional personalities such as Vaclav Havel, who led the Velvet Revolution in former Czechoslovakia. 

1) donation 2) reformation 3) recognition 4) intuition 
12- American comic heroes, despite their masks, are proudly American and are … for their readiness to 

defend U.S. cities. 
1) adored 2) motivated 3) inspired 4) developed 

13- A politician should be elected to political office based … on ability and honesty, but unfortunately, in 
the media era, wealth and personality also play an important part. 

1) voluntarily 2) occasionally 3) fiercely 4) solely 
14- There is a sharp … between the lifestyle in the East and the West. In other words, you cannot find 

much similarity between the two. 
1) contrast  2) distance  3) function  4) description  

 زبان تخصصي

www.konkur.in

forum.konkur.in



    
 
 
 

   4  صفحه:  منحصراً زبانمنحصراً زبان  )مهر 18(آزمون غيرحضوري آزمون غيرحضوري 

15- For many years, people thought that this was an … goal to travel to other planets. 
1) unavoidable  2) unachievable  3) undeniable  4) unbelievable  

16- The stolen handbag … a number of items such as credit cards, a mobile phone, and some cash.  
1) combined  2) arranged  3) figured out   4) contained 

17- Referring to the previous year’s sales figures, the report confidently … that the industry will grow.  
1) attains 2) asserts  3) attributes  4) adheres  

18- It is … to believe that every family can afford to eat healthily, as fresh fruit and vegetables can be 
relatively expensive. 

1) innocent 2) vital 3) naive 4) evil 
19- There has been a … rise in childhood obesity in recent decades, with 17 percent of children now 

considered seriously overweight. 
1) disturbing 2) fascinating 3) pretended 4) splendid 

20- Just as products and places must compete to attract the attention of potential buyers and tourists, 
people, too, are looking to create distinctive brands for themselves to separate themselves from the 
… of the crowd. 

1) reality 2) priority       3) anonymity 4) capacity 
21- They constantly claim that their main concern is the quality of education, but the real … of such 

institutions is to make money. 
1) purpose  2) proposal  3) composition  4) supposition  

22- To guarantee your future success you should … your knowledge and learn some practical skills while 
you are still at university. 

1) support  2) expand  3) identify  4) deplore 
23- It was ridiculous to claim that a military … taking thousands of lives was only to provide humanitarian aids.  

1) intervention  2) establishment  3) fortification   4) evolution   
24- Students are stimulated to greater … effort when they become engaged with the content and the 

course.  
1) comprehensive  2) mandatory   3) retrievable  4) intellectual 

25- What he remembers best from his childhood is his father’s scorning him over the most … matters. 
1) steep   2) trivial   3) flawed 4) nominal   
 

Part C: Sentence Structure  

Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice 

on your answer sheet.  
 

26-  
1) Certain fruits such as apples and pears have their seeds in their cores.  
2) Certain fruit have their seeds such as apples and pears in their cores.  
3) Certain fruits have such their seeds in their cores as apples and pears.  
4) Fruits such as apples and pears has their seeds certain in their cores.  

27-  
1) Paula Wills was based her new novel to the events taken place in 16th century Denmark. 
2) Paula Wills’s new novel has based on the events that are taken place in Denmark 16th century. 
3) Paula Wills has based her new novel on the events that took place in 16th century Denmark. 
4) Paula Wills’s new novel has been based to the events that are taken place in Denmark 16th century. 
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28-  
1) Fleming’s discovery of penicillin, to whom was awarded the Nobel Prize, had a major influence in the 

lives of people in 20th century. 
2) Fleming’s discovery of penicillin, which he was awarded the Nobel Prize, had a major influence in the 

lives of people in the 20th century. 
3) Fleming’s discovery of penicillin, for which he was awarded the Nobel Prize, had a major influence on 

the lives of people in the 20th century. 
4) Fleming’s discovery of penicillin, whom was awarded the Nobel Prize, had a major influence on the 

lives of people in 20th century. 
29-  

1) Under no circumstances passengers are permitted opening the doors themselves. 
2) Under no circumstances is passengers permitted opening themselves the doors. 
3) Under no circumstances passengers permit to open the doors themselves. 
4) Under no circumstances are passengers permitted to open the doors themselves. 

30-  
1) While I just said, I think the plan needs considering further.  
2) As I was just saying, I think the plan needs further consideration.  
3) While I was just saying, I think that the plan needs to further consideration.  
4) As I just said, I think that the plan needs to consider further.  
 
 

Part D: Language Function 

Directions: Read the following conversations between two people and answer the questions about the 
conversations by choosing one of the choices (1),(2),(3) or (4). Then mark the correct choice on your answer 
sheet. 

 

A: Ugh! I’ve toiled for 15 hours already today and I’m ...(31)... now. 
B: I see. You should’ve …(32)… a bit earlier, I believe. 
A: We were compelled to finish the project by today. This is the way it happens when Mr. May is …(33)… 

everything. 
B: …(34)… . It’s no big deal. Come here, I wanted to consult you about buying a smartphone. The 

company says that it has …(35)…, and it is better than my present phone …(36)… . 
A: How much is the cost, then? 
B: 1500$.  
A: Well, if you’re asking me, I’d say it is better not to …(37)… . This is really extravagant of you to waste 

your salary on such things. A cheaper would work as well.  
31- 1) bone idle 2) dead tired 3) downright lazy 4) couch potato 
32- 1) looked back over it  2) set it out 

3) called it a day  4) shined a light on it 
33- 1) in case of  2) in excess of 3) in the shadow of 4) in charge of 
34- 1) Chill out 2) Find out 3) Turn in  4) Get in 
35- 1) its back against the wall 2) everything but the kitchen sink 

3) a trick up its sleeve    4) a foot in both camps 
36- 1) by a hair 2) by a mile  3) by a whisker 4) by a nose 
37- 1) blow your own trumpet 2) build castles in the air 

3) work against the clock 4) eat like a horse  
A: I can’t believe that the car company for which my sister works offers its brand new car with a monthly 

payment plan. I wouldn’t wait around and will surely register for it. 
B: I hope you don’t …(38)…, the company is really good, but their heyday has passed. There was a time 

when their company was a byword for absolute quality and fastidious customer care until they decided 
to save money by …(39)… .  

38- 1) play host to it  2) attend a formal function 
3) take it the wrong way 4) put in an appearance  

39- 1) cutting edge 2) cutting corners 3) cutting machine  4) cutting loose 
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A: Sir, this is the second time your son has been caught while …(40)… pranks on his teacher. 
B: Um, I’m Sorry. I’ll talk to him about that. He can get a bit handful sometimes. 

40- 1) acting  2) taking  3) airing  4) playing 
 

Part E: Cloze Test  

Directions: Read the following passage and decide which choice (1),(2),(3) or (4) best fits each space. Then mark 

the correct choice on your answer sheet. 
 

The earth is rich in biodiversity with millions of species of plants and animals. However, many 
species are disappearing at a/an …(41)… rate. Biodiversity is reduced when ecosystems …(42)… 
and habitats of plants and animals are destroyed. The one species that is causing this …(43)… is the 
one that can stop it-humans. Many scientists view the current wave of species extinctions as 
…(44)… since the disappearance of dinosaurs, more than 65 million years ago. …(45)…, around 
11000 species of plant and animals are …(46)… risk of disappearing forever; this includes 180 
mammals.  

Many species cling to survival. The giant panda’s habitat, …(47)… only in China, has been 
decimated; the old-growth bamboo forests …(48)… the pandas make their home are being 
destroyed rapidly. It is estimated that as few as 1600 giant pandas remain in the wild today. In the 
Arctic, the polar bear’s icy habitat is disappearing as a result of …(49)… global warming, and it is 
on the …(50)… of destruction. In Central and East Africa, which have …(51)… decades of civil 
war, the mountain gorilla population now totals just over 700 individuals.  

If the present …(52)… continue, humanity stands to lose a large portion of its natural 
inheritance. Extinction is one environmental problem that is irreversible. The World Wildlife Fund 
(WWF) has …(53)… since 1961 to conserve the diversity of life on earth. WWF has advanced giant 
panda conservation by …(54)… more than 300 panda reserve staff and local officials. Working 
with the community to help …(55)… the habitat and guard against illegal hunting, the staff have so 
far been able to help these pandas out. In addition, WWF is trying to head off the effects of global 
warming in some other attempts as well. 

41- 1) loyal     2) aging  3) alarming  4) bitter 
42- 1) modify 2) are modifying 3) are modified  4) modified  
43- 1) phenomenon  2) apprehension  3) adoption  4) transfusion 
44- 1) masculine  2) riotous   3) righteous  4) unrivalled  
45- 1) Currently   2) Normally  3) Ambitiously  4) Duly 
46- 1) in  2) on   3) at   4) from 
47- 1) founded   2) that is found  3) who is found  4) found 
48- 1) in where   2) which    3) where   4) that 
49- 1) the  2) - 3) a   4) some 
50- 1) edge  2) rise  3) risk  4) ink 
51- 1) endured  2) mistaken 3) forborne  4) fled 
52- 1) grounds  2) fleets 3) trends  4) mansions 
53- 1) worked  2) been worked  3) been working   4) working 
54- 1) train    2) trained    3) training 4) to train 
55- 1) to saving   2) saving 3) save  4) in saving 
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Part F: Reading Comprehension  

Directions: In this part of the test, you will read three passages. Answer the questions about the passages by 

choosing the best choice (1),(2),(3) or (4). Then mark the correct choice on your answer sheet. 
 

PASSAGE 1 

The Akashi Kaiyko Bridge in southern Japan is the world’s longest bridge. The Akashi Kaiyko 
Bridge spans the Akashi Strait, connecting Awaji Island to Kobe, an important industrial center. 
The bridge has a span of 5973 feet (1991 meters), making it over 25% longer than its nearest 
competitor: the Humber Bridge in England. Strangely, there may be longer bridges in the world, 
but the Guinness Book of World Records measures the longest bridges according to their record-
breaking spans.  

The concrete pillars have to be tall enough to support the whole weight of the bridge. The 
pillars on the Akashi Kaiyko Bridge are 900 feet tall. These pillars had to be built to withstand not 
only huge waves but also high-speed winds, and possibly even violent earthquakes, which are not 
uncommon in the area. The bridge has survived one earthquake: its span was extended by more 
than 3 feet by the Kobe earthquake of 1995.  

The cables weigh 50,000 tons and have a diameter of almost four feet each. Each cable contains 
290 hexagonal strands; each strand is composed of 127 steel wires. The total length of the wire 
used is more than 200,000 miles, enough to circle the Earth 7.5 times! 

The first plans to connect Kobe to Naruto via Awaji Island were voiced in 1955, but it took the 
government thirty years to decide to really build the bridge. The next three years were spent 
surveying the site and construction commenced in 1988. In designing the bridge, special 
consideration was given to its effect on the surroundings, great emphasis was placed on a “pleasing 
balance between light and shade” and also on the choice of the perfect color. 

The construction of the bridge was a very complicated and technologically draining process, 
which took ten years to complete. Casting concrete in 300 feet of water, installing special pilot 
ropes over the strait by helicopter, and finally stretching the gigantic steel cables surely wasn’t an 
easy job. Ten years after construction commenced in 1988, the bridge was finished and the six-
lane highway finally opened to traffic. 

The bridge has made the transportation from island to island much easier, so in addition to 
breaking a record, the Akashi Kaiyko Bridge achieves the main goal of a bridge: to connect two 
places. 

56- The pillars had to be strong enough to hold out against all of the following EXCEPT … . 
1) earthquakes 2) waves 3) winds 4) lava 

57- Why does the author mention “the Earth” in paragraph 3? 
1) To state the effects of the Earth’s rotation on the Akashi Kaiyko Bridge 
2) To emphasize the impressive length of the wires 
3) To exemplify another natural disaster threatening the bridge 
4) To admire the capability of the Japanese constructors 

58- In paragraph 4, the word “commenced” is closest in meaning to … . 
1) underwent 2) extended 3) introduced 4) began 

59- According to the passage, which of the following is NOT wrong? 
1) The bridge was built in 1955. 
2) The government immediately embarked on the construction project. 
3) The effects of the bridge on its surroundings was included in the design. 
4) The color of the bridge was of no importance to the architects. 

60- What does the word “draining” in paragraph 5 mean? 
1) exhausting 2) damaging 3) conflicting 4) changing 
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PASSAGE 2 

Most scientists reckon that by resting our bodies, we allow time for essential maintenance work to 

be done. Any damage can be put right quickly if energy isn’t being used up doing other things. 

Scientists are able to study what goes on in people’s heads while they sleep. They have discovered 

that when we first drop off the heart beats more slowly and our breathing becomes shallow. After 

about 90 minutes, we go into REM sleep. REM stands for Rapid Eye Movement, and it’s a sign that 

we’ve started to dream. You have dreams every night, even if you don’t remember them. There are 

all sorts of theories about why we dream. One is that it gives the brain a chance to sort out the day’s 

activities, filing everything away in the right place. Another is that the brain gets bored while we’re 

asleep and organizes its own entertainment-a sort of late-night cinema! Some people have to have 

eight hours of sleep every night, while others seem to manage on a lot less, however, we all need 

some sleep. An American jockey, who stayed awake for 200 hours to raise money for charity, 

thought things were bursting into flames all around him after 120 hours without sleep. He survived 

the ordeal but was depressed for 3 months afterwards. Humans are unusual in the way they sleep. 

Most animals have a sleep during the day and tests have shown that a nap can be beneficial for us, 

too. It’s even been recommended that airline pilots should have a nap during long flights. That way 

they are more alert for the tricky business of landing. 

61- Scientists have discovered that … . 

1) some people never remember their dreams 

2) people’s eyes move when they are dreaming 

3) we can study what goes on in people’s heads 

4) most people dream for 90 minutes every night 

62- What does the writer say about people’s and animals’ sleeping habits? 

1) People would benefit from copying animals’ sleeping habits. 

2) Animals usually need more sleep than people. 

3) People and animals have similar sleeping habits. 

4) People sleep during the night but animals sleep during the day. 

63- Considering the amount of sleep we need, the writer says that … . 

1) people who do sleep enough get depressed 

2) most people need eight hours sleep a night 

3) people who sleep too little start imagining things 

4) not everyone needs the same amount of sleep 

64- Most scientists believe that we need sleep because … . 

1) all our energy has been used up  2) our brains are tired and need to rest 

3) the heart requires beating more slowly  4) our bodies need to carry out repair work 

65- The American jockey fell asleep after … . 

1) months 2) 120 hours 3) 200 hours  4) 320 hours 
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PASSAGE  3 
In less than one year, a robot larger than an SUV is going to blast off from Earth and head towards 
Mars. The droid will gently parachute down onto the red planet’s surface, guided at the very end by 
a sky-crane, which will bring it safely to the ground. That’s the plan anyway for Mars 2020. In 
addition to becoming the most modern piece of tech on our neighbor planet, the new robot will also 
have more cameras than any rover to go before it. Its 23 cameras will outnumber Curiosity rover’s 
collection by six, and Spirit’s and Opportunity’s each by 13. The eye upgrades, facilitated by 
advances in camera engineering, will give researchers a clearer look at Mars, sure, but they will also 
help save time and ease the grueling process of scheduling tasks on Mars from 33.9 million miles 
away. Currently, to plan out a day’s worth of work on Curiosity, it takes scientists at NASA’s Jet 
Propulsion Laboratory (JPL) about eight hours to first process information gathered by the rover 
the day before, plan out the next day’s tasks, engineer those projects, bundle them up in digital 
instructions, and send more instructions back to Mars. Engineers spend about an hour processing 
the images that Curiosity sends back, stitching together wide angle photos that let humans-or 
rovers-deduce information about pictures. 

“For things like driving or operating the arm, we take a picture with the left camera and a 
picture with the right camera” Justin Maki, the imaging scientist for Mars 2020, says. “Then we 
match up pixels between the two images to create a 3D image of the terrain. Because we have these 
wider field of view lenses, we end up with better quality stereo terrain maps.” 

Maki and his team’s plan for the next mission is to compress the entire daily timeline down to 
five hours, in part by taking advantage of the smaller, cheaper, and more powerful cameras on the 
rover, which have a much wider field of view. The wider field of view and high resolution means less 
time stitching together or processing images, and more time working on the next day’s assignments 
for the rover, whether that’s telling it to drive over to a rock, avoid an obstacle, or fire a laser. 

In addition to providing detailed navigation aids, the large number of cameras also means more 
amazing images for everyone back home as well. High-speed landing video cameras, along with a 
specialized microphone, will capture the harrowing descent of the rover to the surface. The 
engineers will see detailed footage of how the parachutes deploy in Mars’ atmosphere. And, like 
other NASA missions, when information comes back from Mars 2020 mission, the public will be 
able to follow along almost as soon as Maki and the other mission scientists get the information. 

66- According to the first paragraph, which of the following statements is NOT true? 
1) The new rover has the most cutting-edge design on Mars. 
2) The larger number of cameras means spending less time on programming the tasks. 
3) A four-door sedan is very bigger than the new rover. 
4) Processing information gathered the day before takes about 8 hours. 

67- What does the pronoun “it” in the first paragraph refer to? 
1) our neighbor planet  2) SUV 3) new robot  4) camera 

68- The word “obstacle” in the third paragraph is closest in meaning to … . 
1) region 2) barrier 3) predicament  4) method 

69- According to the third paragraph, … . 
1) Maki and his team are planning to spend less time working in comparison to JPL scientists 
2) wider fields of view will create more work on the next day’s assignments 
3) cheaper cameras will hinder the process of stitching the images together 
4) smaller cameras have narrower fields of view, and seem to be less efficient 

70- What is the primary purpose of the passage? 
1) To provide detailed information to draw terrain map 
2) To indicate large number of inexpensive cameras used in rovers 
3) To promote production of cameras with wider fields of view 
4) To show advancement of technologies used in Martian studies 
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 (مائده اميري)  »2«گزينة  - 1

 مهم درسي   ةنكت

در اين جمله به يك مفهوم كلي اشاره دارد، قبل از آن از  ”world“چون كلمة 

كه كلمة  با توجه به اين»). 1«كنيم (رد گزينة  حرف تعريف معين استفاده نمي

“world” ريف تنهايي و بدون حرف تع  توانيم آن را به شمارش است، نمي مفرد و قابل

  »). 3«وريم (رد گزينة بيا

  (گرامر) 

----------------------------------------------  

 (مائده اميري)  »3«گزينة  - 2

 مهم درسي   ةنكت

به يك نوع خاص از اين اسم اشاره دارد، آن را  ”grammar“جايي كه كلمة  از آن

لمه، بايد پيش از آوريم. با توجه به مفرد بودن اين ك شمارش به حساب مي اسمي قابل

 ”grammar“چون كلمة »). 2«آن از حرف تعريف مناسب استفاده كنيم (رد گزينة 

براي اولين بار در اين جمله معرفي شده است، نيازي به حرف تعريف معين ندارد (رد 

  »). 4«گزينة 

  (گرامر) 

----------------------------------------------  

 (مائده اميري)  »3«گزينة  - 3

 مهم درسي   ةنكت

كه بعد از جاي خالي آمده مفرد است، بايد قبل از آن از  ”reason“چون كلمة 

در  ”each“استفاده از »). 2«و » 1«هاي  حرف تعيين مفرد استفاده كنيم (رد گزينه

عبارت پركاربرد زير »). 4«نشيني نادرست است (رد گزينة   اين جمله از نظر قواعد هم

  : خاطر بسپاريد را به

have every reason to do sth   
  (گرامر) 

----------------------------------------------  

 فر) (شهاب مهران  »3«گزينة  - 4

 مهم درسي   ةنكت

، بايد قبل از آن از حرف تعريف ”elephant“ شمارش بودن كلمة  توجه به قابل با 

طور كلي  به ”elephant“جايي كه كلمة  از آن»). 2«استفاده كنيم (رد گزينة 

توانيم از  خصوص، نمي هاي موجود در آن منطقه دارد و نه يك فيل به اشاره به فيل

به دليل عدم تطابق » 4«گزينة »). 1«شكل مفرد آن استفاده كنيم (رد گزينة 

كه در جمله آمده، نادرست است. توجه  ”its“و ضمير  ”elephants“اسم جمع 

  معناي جمع دارد. ”the elephant“» 3«كنيد كه در گزينة 

  (گرامر)

  

 فر) (شهاب مهران  »4«گزينة  - 5

 مهم درسي   ةنكت

 ”though“توانيم بلافاصله بعد از آن از  براي ايجاد تأكيد بر روي يك صفت، مي

ها، هيچ  هاي تضاد موجود در ساير گزينه دهنده استفاده كنيم. توجه كنيد كه ربط

  ده نيستند. جملات زير را بخوانيد:كدام در ساختار اين جمله قابل استفا

Although/ Even though his injury appeared to be serious, he 

insisted that he could continue the match, and so he did. 

His injury appeared to be serious, but he insisted that he could 

continue the match, and so he did. 

  ر)(گرام

----------------------------------------------  

 فر) (شهاب مهران  »1«گزينة  - 6

  مهم درسي ةنكت

در اين جمله به مفهوم مدرسه اشاره دارد و نه به محل يا  ”school“چون اسم 

»). 2«ساختمان آن، نيازي به استفاده از حرف تعريف قبل از آن نداريم (رد گزينة 

  »). 4«و » 3«هاي  حرف اضافه ندارد (رد گزينهنيازي به  ”leave“فعل 

  (گرامر)

----------------------------------------------  

 (مائده اميري)  »1«گزينة  - 7

 مهم درسي   ةنكت

همين خاطر  آمده، مفعول اين فعل است و به ”saying“عبارتي كه بعد از فعل 

هاي موجود، فقط   نهباشد. در ميان گزي noun clause)(بايد يك جملة اسميه 

“that” تواند ابتداي يك جملة اسميه بيايد.  مي  

  (گرامر) 

----------------------------------------------  

 (مائده اميري)  »2«گزينة  - 8

 مهم درسي   ةنكت

كه معنا و مفهوم كلي جمله منفي است، نياز به حرف تعريفي داريم  با توجه به اين

با  ”any“حرف تعريف »). 4«م) داشته باشد (رد گزينة كدا كه معناي منفي (هيچ

بايد همراه يك  ”none“حرف تعريف »). 1«رود (رد گزينة  كار مي فعل منفي به

  »). 3«فعل مثبت بيايد (رد گزينة 

  (گرامر) 

----------------------------------------------  

  زبان تخصصيهاي تستيسؤالپاسخ زبان انگليسي تخصصي

www.konkur.in

forum.konkur.in



  
 
 
 

  11  صفحه:  منحصراً زبانمنحصراً زبان  )مهر 18(آزمون غيرحضوري آزمون غيرحضوري 
 

 فر) (شهاب مهران  »2«گزينة  - 9

 مهم درسي   ةنكت

ها اشاره دارد و  طوركلي به توريست به ”tourists“ين جمله، اسم جمع چون در ا

ها، نيازي به استفاده از حرف تعريف قبل از آن نيست  نه گروه خاصي از توريست

استفاده  ”are“از طرفي چون بعد از جاي خالي از فعل جمع »). 1«(رد گزينة 

و » 3«هاي  (رد گزينه شده است، اسم قبل از آن هم بايد در ظاهر اسم جمع باشد

»4.(«  

  (گرامر)

----------------------------------------------  

 فر) (شهاب مهران  »2«گزينة  -10

  مهم درسي   ةنكت

»). 1«اند با هم رابطة تضاد دارند (رد گزينة  اي كه پشت سر هم آمده دو جمله

و بايد بعد نادرست است  ”despite“كار بردن يك جمله بعد از  توجه كنيد كه به

 despite“صورت  از آن از يك اسم يا عبارت اسمي استفاده كنيم و يا آن را به

the fact that”   هرگاه از »). 3«بياوريم (رد گزينة“however”  براي بيان

را يا بين دو جمله قرار ”however“ تضاد ميان دو جمله استفاده كنيم، 

  »). 4«دهيم يا در انتهاي جملة دوم (رد گزينة  مي

  (گرامر) 

----------------------------------------------  

 (فريبا توكلي)  »2«گزينة  -11

ها از كمونيست به دموكراتيك  اخيراً در اروپاي شرقي، اصلاح دولت« جمله: ةترجم

سلواكي ا هاي استثنايي مانند واچلاو هاول كه انقلاب مخملي در چك توسط شخصيت

  »ت شد.سابق را رهبري كرد، هداي

  ) اصلاح، بازسازى2  ) اهدا1

  ) شهود4  ) شناخت3

  (واژگان)

----------------------------------------------  

 (فريبا توكلي)  »1«گزينة  -12

هايشان، باافتخار آمريكايي  نقابقهرمانان كاميك آمريكايي، با وجود « جمله: ةترجم

  »شوند. الات متحده تحسين ميخاطر آمادگي خود براي دفاع از شهرهاي اي هستند و به

      ) برانگيختن، تشويق كردن2  ) تحسين كردن1

  توسعه دادن، توسعه يافتن) 4  ) الهام بخشيدن3

  (واژگان)

 (فريبا توكلي)  »4«گزينة  -13

 يك سمتيك سياستمدار بايد فقط بر اساس توانايي و صداقت به « جمله: ةترجم

ثروت و شخصيت نيز نقش  سياسي انتخاب شود، اما متأسفانه در عصر رسانه

 »مهمي دارند.

  ) گاهي اوقات2  داوطلبانه) 1

 ) فقط4  تندى هب ) سخت،3

  (واژگان)

----------------------------------------------  

 (نگار توكلي)  »1«گزينة  -14

تضاد واضحي ميان سبك زندگي در شرق و غرب وجود دارد. به «ترجمة جمله: 

  »شباهت زيادي بين اين دو بيابيد.توانيد  بيان ديگر، شما نمي

  ) فاصله2   ) تضاد، مغايرت                1

 ) توصيف4  ) عملكرد3

  (واژگان)

----------------------------------------------  

 (نگار توكلي)  »2«گزينة  -15

كردند كـه سـفر بـه سـيارات ديگـر       ساليان زيادي مردم گمان مي«ترجمة جمله: 

  »است.نيافتني  هدفي دست

  نيافتني ) دست2  اجتناب ) غيرقابل 1

 ) باورنكردني4  انكار ) غيرقابل 3

  (واژگان)

----------------------------------------------  

 (نگار توكلي)  »4«گزينة  -16

هاي  شده حاوي اقلام زيادي همچون كارت كيف دستي ربوده«ترجمة جمله: 

  »ود.اعتباري، يك تلفن همراه و مقداري پول نقد ب

  ) چيدن، مرتب كردن2  ) تركيب كردن1

 ) حاوي بودن، شامل بودن4  ) فهميدن  3

  (واژگان)
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 فر) (شهاب مهران  »2«گزينة  -17

كند  با اشاره به آمار فروش سال گذشته، گزارش با قاطعيت ادعا مي«ترجمة جمله: 

  »كه اين صنعت رو به رشد است.

  ) ادعا كردن، اعلام كردن2  دست آوردن ) به1

  ) پايبند بودن، چسبيدن4  سبت دادن) ن3

  (واژگان)

----------------------------------------------  

 (فريبا توكلي)  »3«گزينة  -18

لوحانه است كه باور كنيم هر خانواده استطاعت اين را دارد  اين ساده:«جمله  ةترجم

 »گران باشند.توانند نسبتاً  طورسالم غذا بخورد، زيرا ميوه و سبزيجات تازه مي كه به

  ) حياتي2  گناه ) بي1

  ) اهريمني، بد4  انهلوح ) ساده3

  (واژگان)

----------------------------------------------  

 (فريبا توكلي)  »1«گزينة  -19

اي در چاقي خردسالي رخ داده  كننده افزايش نگران ،هاي اخير در دهه«: جمله ةترجم

طور جدي داراي اضافه وزن در نظر  ون بهدرصد از كودكان اكن 17طوري كه  است، به

 »گرفته مي شوند.

  دلفريب ) دلكش،2  كننده ) نگران1

  ) باشكوه4  ) ساختگي، دروغين3

  (واژگان)

----------------------------------------------  

 (فريبا توكلي)  »3«گزينة  -20

جه ها بايد براي جلب تو طور كه محصولات و مكان درست همان« جمله: ةترجم

خريداران و گردشگران بالقوه رقابت كنند، مردم نيز به دنبال ايجاد برندهاي 

 »متمايز براي خود هستند تا خود را از گمنامي مردم عادي جدا كنند.

  لويتو) ا2  ) واقعيت1

  ) گنجايش4  ) ناشناس بودن، گمنامي3

  (واژگان)

----------------------------------------------  

 (نگار توكلي)  »1«گزينة  -21

شان كيفيت آموزش  كنند كه دغدغة اصلي ها دائماً ادعا مي آن«ترجمة جمله: 

  »است، اما هدف واقعي چنين مؤسساتي پول درآوردن است.

  ) خواستگاري، پيشنهاد  2  ) هدف1

  ) فرض4  ) ساختار3

  (واژگان)

----------------------------------------------  

 )(نگار توكلي  »2«گزينة  -22

براي تضمين موفقيتتان در آينده، بايد دانشتان را گسترش دهيد «ترجمة جمله: 

  »هاي كاربردي را ياد بگيريد. و هنوز كه در دانشگاه هستيد، تعدادي از مهارت

  ) حمايت كردن 1

  ) گسترش دادن 2

  ) تشخيص دادن3

  ) نقد كردن، محكوم كردن4

  (واژگان)

----------------------------------------------  

 فر) (شهاب مهران  »1«گزينة  -23

اي بود كه يك مداخلة نظامي كه جان هزاران نفر را  ادعاي مسخره«ترجمة جمله: 

  »دوستانه بوده است. هاي بشر گرفته، تنها به هدف رساندن كمك

  ) سازمان، تأسيس 2  ) مداخله 1

  ) تكامل، پيشرفت تدريجي4  ) استحكامات، تقويت 3

  (واژگان)

----------------------------------------------  

 فر) (شهاب مهران  »4«گزينة  -24

درگير شوند، به آموزان با محتوا و دورة آموزشي   كه دانش زماني«ترجمة جمله: 

  »شوند. سوي تلاش فكري بيشتري سوق داده مي

  ) الزامي، اجباري   2  ) جامع، كامل 1

  ) فكري، ذهني4  ) قابل بازيابي  3

  (واژگان)

----------------------------------------------  

 فر) (شهاب مهران  »2«گزينة  -25

آورد،  ياد مي چه كه بيش از هر چيز از كودكي خود به آن«ترجمة جمله: 

  »ترين موضوعات است. اهميت تحقيرهاي پدرش بر سر بي

  اهميت  ) ناچيز، بي2  ) تند، شيبدار 1

  جزئي) اسمي، ظاهري، 4  ) معيوب، ناقص  3

  (واژگان) 
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  (نسرين خلفي)  »1« ةگزين -26

خصوصـي مثـل سـيب و گلابـي در وسطشـان       هاي بـه  هستة ميوه«ترجمة جمله: 

  »است.

  مهم درسي   ةنكت

صـحيح اسـت. در   » 1«با توجه به مفهوم و ترتيب قرار گرفتن اجزاي جملـه، گزينـة   

ي اشـاره  شمارش است، اما اگر به انـواع خاص ـ  در حالت كلي غيرقابل ”fruit“ضمن، 

و فعل آن نيز جمـع  ») 2«آيد (رد گزينة  صورت جمع مي شمارش است و به كند، قابل

    »).  4«است (رد گزينة 

  (ترتيب اجزاي جمله)

----------------------------------------------  

 (مرجان شيخي)  »3« ةگزين -27

 مهم درسي   ةنكت

صورت  ل را بهاست، بايد آن فع ”base“فاعل فعل  ”Paula Wills“چون 

قبل از آن  ”has based“مفعول فعل »). 1«معلوم بياوريم نه مجهول (رد گزينة 

بايد  ”base“براي فعل »). 2«صورت مجهول بيايد (رد گزينة  است و بايد به آمده 

 »). 4«استفاده شود (رد گزينة  ”on“از حرف اضافة 

  (ترتيب اجزاي جمله)  

----------------------------------------------  

  (مرجان شيخي)  »3« ةگزين -28

 مهم درسي   ةنكت

آمـده، كـاربرد ضـمير     ”penicillin“جايي كه بند پيرو وصفي در توصـيف   از آن

» 4«و » 1«هـاي   رود، در گزينـه  كـار مـي   كه براي شخص به ”whom“موصولي 

همراه است  ”on“با حرف اضافة » تأثير«به معني  ”influence“نادرست است. 

) با حرف تعريـف  20th centuryجا  ها (در اين قرن»).  2«و » 1«هاي  (رد گزينه

“the” 4«و » 1«هاي  همراه هستند (رد گزينه .(«  

  (ترتيب اجزاي جمله)  

----------------------------------------------  

 (مسعود پيربداقي)  »4« ةگزين -29

 مهم درسي   ةنكت

) ابتداي جمله ”under no circumstances“جا  در اينهرگاه يك قيد منفي (

شـود (فعـل كمكـي قبـل از فاعـل       قرار گيرد، جمله به صورت وارونـه نوشـته مـي   

كـه داراي سـاختار خبـري هسـتند،     » 3«و » 1«هـاي   آيد)؛ در نتيجه، گزينـه  مي

كـار   بـه  ”to“به صورت مصدر بـا   ”permit“باشند. فعل دوم بعد از  نادرست مي

بـراي   ”is“كاربرد فعل مفـرد  » 2«در گزينة »). 2«و » 1«هاي  (رد گزينه رود مي

بـه   ”permit“فعـل  » 3«نادرست است. در گزينة  ”passengers“فاعل جمع 

قبـل از آن   (passengers)به دليل قرار گرفتن مفعول » اجازه دادن (به)«معني 

     كار رود. بايد در وجه مجهول به

  (ترتيب اجزاي جمله)

----------------------------------------------  

  (مسعود غايبي)  »2« ةگزين -30

كنم برنامه بـه بررسـي    گفتم، فكر مي طور كه الان داشتم مي همان«ترجمة جمله: 

  »بيشتري نياز دارد.

 مهم درسي   ةنكت

  صحيح است.» 2«با توجه به مفهوم و ترتيب قرار گرفتن اجزاي جمله، گزينة 

  له)(ترتيب اجزاي جم  

----------------------------------------------  

 (محمدمهدي ملكي)  »2«گزينة  -31

 ) خيلي خسته 2  دردنخور ) تنبل، به1

 ) معتاد به تلويزيون4  ) خيلي تنبل3

  (مكالمه)

----------------------------------------------  

 (محمدمهدي ملكي)  »3«گزينة  -32

 ) شروع كردن2  ) مرور كردن، بازنويسي كردن1

 ) توضيح دادن، تمركز كردن4  ) دست از كار كشيدن3

  (مكالمه)

----------------------------------------------  

 (محمدمهدي ملكي)  »4«گزينة  -33

1بيش از مقداري بودن2  ) در صورت ( 

 ) مسئول كاري بودن4  الشعاع چيزي قرار داشتن ) تحت3

  (مكالمه)

----------------------------------------------  

 (محمدمهدي ملكي)  »1«گزينة  -34

 ) فهميدن2  ) آرام بودن1

 ) رسيدن، پذيرفته شدن4  ) زود خوابيدن3

  (مكالمه)
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 (محمدمهدي ملكي)  »2«گزينة  -35

 ) در موقعيت سختي بودن، راه چاره نداشتن1

 ) از شير مرغ تا جان آدميزاد2

 اي در آستين داشتن ) حقه3

 ف ارتباط داشتن) با دو گروه مخال4

  (مكالمه)

----------------------------------------------  

 (محمدمهدي ملكي)  »2«گزينة  -36

 ) با فاصلة بسيار كم1

 ) با فاصلة زياد (مسابقه را بردن)2

 ) با فاصلة بسيار كم3

 بسيار كم  ) با اختلاف4

  (مكالمه)

----------------------------------------------  

 (محمدمهدي ملكي)  »2«ة گزين -37

 ) اميد واهي داشتن2  ) به خود باليدن1

 ) زياد غذا خوردن4  ) خيلي سريع كار كردن3

  (مكالمه)

----------------------------------------------  

 (محمدمهدي ملكي)  »3«گزينة  -38

 ) ميزبان بودن، مقدمات را فراهم كردن1

 ) در يك آيين رسمي شركت كردن2

 هم شدن، چيزي را اشتباه متوجه شدن) سوء تفا3

 ) سر زدن، در مراسمي به مدت كوتاه شركت كردن4

  (مكالمه)

----------------------------------------------  

 (محمدمهدي ملكي)  »2«گزينة  -39

 جويي كردن ) (از چيزي) زدن، صرفه2  ) پيشرو، پيشگام1

 ا كردن) خارج از كنترل رفتار كردن، ره4  ) دستگاه برش 3

  (مكالمه)

 (محمدمهدي ملكي)  »4«گزينة  -40

  نكتة مهم درسي  

 play a“اسـت و عبـارت   » حقـه «يـا  » شـوخي «بـه معنـاي    ”prank“كلمـة  

prank”  است. » كسي را دست انداختن«يا » كار گذاشتن كسي را سر«به معناي  

  (مكالمه)

----------------------------------------------  

 رشيد شفيعي)(عبدال  »3«گزينة  -41

  ) مسن 2  ) وفادار  1

  ) تلخ4  ) هشداردهنده   3

  (كلوزتست)

----------------------------------------------  

 (عبدالرشيد شفيعي)  »3«گزينة  -42

  نكتة مهم درسي

(تغيير دادن) متعدي اسـت و چـون بعـد از آن مفعـول وجـود       ”modify“فعل 

  نوشته شود. ”are modified“صورت مجهول يعني  ندارد، بايد به

  (كلوزتست)

----------------------------------------------  

 (عبدالرشيد شفيعي)  »1«گزينة  -43

  ) دستگيري، تشويش    2  ) حادثه، پديده 1

  ) تزريق خون، انتقال4  ) به فرزندي گرفتن، پذيرفتن3

  (كلوزتست)

----------------------------------------------  

 (عبدالرشيد شفيعي)  »4«گزينة  -44

  گرانه    ) آشوب2  ) مردانه    1

  نظير مانند، بي ) بي4  كار   ) درست3

  (كلوزتست)

----------------------------------------------  

 (عبدالرشيد شفيعي)  »1«گزينة  -45

  طور معمول   ) به2  ) در حال حاضر 1

  شكل مناسب، در زمان مناسب ) به4  طلبانه   طور جاه ) به3

  وزتست)(كل
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  15  صفحه:  منحصراً زبانمنحصراً زبان  )مهر 18(آزمون غيرحضوري آزمون غيرحضوري 
 

 (عبدالرشيد شفيعي)  »3«گزينة  -46

  نكتة مهم درسي

» در خطر چيـزي بـودن  «به معناي  sth”  “be at risk of (doing)به عبارت 

  دقت كنيد.

  (كلوزتست)

----------------------------------------------  

 (عبدالرشيد شفيعي)  »4«گزينة  -47

  نكتة مهم درسي

“found”  شكل سوم فعل“find” و » يـافتن «نـاي  به مع“founded”   شـكل

بعـد از   ”that“است. در ضـمن  » تأسيس كردن«به معناي  ”found“سوم فعل 

كـه شـكل   » 4«رونـد، بنـابراين گزينـة     كار نمي براي غيرانسان به ”who“كاما و 

  باشد. است، صحيح مي ”which is found“كوتاه شدة عبارت 

  (كلوزتست)

----------------------------------------------  

 (عبدالرشيد شفيعي)  »3«گزينة  -48

  نكتة مهم درسي

 ”whose/ whom/ which“از حـروف اضـافه تنهـا قبـل از ضـماير موصـولي       

كه جمله بـه يـك مكـان اشـاره دارد، فقـط       توان استفاده كرد و با توجه به اين مي

  صحيح است.» 3«گزينة 

  (كلوزتست)

 (عبدالرشيد شفيعي)  »2«گزينة  -49

  درسينكتة مهم 

كار رفته است، بنابراين نيازي بـه   در معناي عام به ”global warming“عبارت 

ندارد و چون تنها يـك مفهـوم اسـت و انـواع ديگـري       ”the“حرف تعريف معين 

گيري نيز براي  نيز نياز ندارد. كاربرد ادات اندازه ”a“ندارد، به حرف اضافة نامعين 

  ارت به هيچ چيز قبل از خود نياز ندارد.مفاهيم عام نادرست است. بنابراين، عب

  (كلوزتست)

----------------------------------------------  

 (عبدالرشيد شفيعي)  »1«گزينة  -50

  نكتة مهم درسي

در معرض چيـزي  «به معناي  ”be on the edge of something“به عبارت 

  دقت نماييد.» بودن

  (كلوزتست)

 (عبدالرشيد شفيعي)  »1«گزينة  -51

  ) اشتباه كردن      2  ) تحمل كردن، باقي ماندن1

  ) گريختن4  ) خودداري كردن3

  (كلوزتست)

----------------------------------------------  

 (عبدالرشيد شفيعي)  »3«گزينة  -52

  ) ناوگان     2  ) زمينه  1

  ) عمارت4  ) روند، رويه، سير وقوع  3

  (كلوزتست)

----------------------------------------------  

 (عبدالرشيد شفيعي)  »3«گزينة  -53

  نكتة مهم درسي

شويم به زمان حال كامل نياز داريم، اما مفهوم  متوجه مي ”since“با توجه به وجود 

رسـاند، بنـابراين بايـد از سـاختار حـال       طور متوالي مي و فعل جمله انجام كاري را به

  استفاده كنيم. ”has/have+ been+ verb+ ing“كامل استمراري يعني 

  (كلوزتست)

----------------------------------------------  

 (عبدالرشيد شفيعي)  »3«گزينة  -54

  نكتة مهم درسي

جـز   كار برد (بـه  به ”verb+ ing“بعد از تمام حروف اضافه بايد فعل را به صورت 

“to” عنوان  موقعي كه به“infinitive” رود). كار مي به  

  (كلوزتست)

----------------------------------------------  

 (عبدالرشيد شفيعي)  »3«گزينة  -55

  نكتة مهم درسي

و هـم مصـدر    ”to“صورت مصدر با  تواند هم به مي ”help“فعل دوم بعد از فعل 

  نادرست است. ”ing“كار رود و كاربرد  به”to“ بدون 

  (كلوزتست)

----------------------------------------------  

  (مرجان شيخي)  »4« ةگزين -56

 بودند كه در برابر تمامي مـوارد زيـر،   اي محكم مي ها بايد به اندازه ستون«ترجمة جمله: 

   »كردند. مقاومت مي» مواد مذاب«جز  به

  مطلب) (درك
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  16  صفحه:  منحصراً زبانمنحصراً زبان  )مهر 18(آزمون غيرحضوري آزمون غيرحضوري 
 

  (مرجان شيخي)  »2« ةگزين -57

  »برد؟ نام مي 3در پاراگراف » زمين«به چه دليل نويسنده از «ترجمة جمله: 

  »ها انگیز سیم بر طول حیرت براي تأکید«

  مطلب) (درك

----------------------------------------------  

  (مرجان شيخي)  »4« ةگزين -58

(شروع كردن) از لحاظ معنايي  ”commenced“كلمة  4در پاراگراف «ترجمة جمله: 

   »ترين است. نزديك ”began“به  

  مطلب) (درك

----------------------------------------------  

  (مرجان شيخي)  »3« ةگزين -59

  »؟باشد نمييك از موارد زير اشتباه  برطبق متن، كدام«ترجمة جمله: 

   »تأثیرات پل بر محیط اطرافش در طراحی (پل) لحاظ شده بود.«

  مطلب) (درك

----------------------------------------------  

  (مرجان شيخي)  »1« ةگزين -60

  »به معنی چیست؟ 5در پاراگراف  ”draining“ كلمة«ترجمة جمله: 

  »فرسا طاقت«

  مطلب) (درك  

----------------------------------------------  

 اكبر افرازي) (علي  »2« ةگزين -61

 ،بیننـد که افـراد خـواب مـی هنگامی اند که کرده دانشمندان كشف«ترجمة جمله: 

  » .کند چشمانشان حرکت می

  مطلب) (درك 

----------------------------------------------  

 اكبر افرازي) (علي  »4« ةگزين -62

ها و حيوانـات چـه چيـزي     هاي خواب انسان عادت ةنويسنده دربار«ترجمة جمله: 

  »؟گويد مي

  »  خوابند. می طی روزر اما حیوانات د ،خوابند ها در طی شب می انسان«

  مطلب) (درك   

----------------------------------------------  

 اكبر افرازي) (علي  »4« ةگزين -63

گويـد   نويسنده مي ،با در نظر گرفتن مقدار خوابي كه ما نياز داريم«ترجمة جمله: 

  ».همة افراد به مقدار مشابهي از خواب نياز ندارند كه

  مطلب) (درك   

 اكبر افرازي) (علي  »4« ةگزين -64

 زیـرا ،اب داریـممعتقدنـد کـه مـا نیـاز بـه خـو دانشـمندان  اكثـر «ترجمة جمله: 

     » .هایمان نیاز دارند که کار بازسازي را انجام دهند بدن

  مطلب) (درك

----------------------------------------------  

 اكبر افرازي) (علي  »3« ةگزين -65

  ».رفتخواب  بهساعت  200كايي بعد از يسوار آمر اسب«ترجمة جمله: 

  مطلب) (درك 

----------------------------------------------  

 (محمدمهدي ملكي)  »3«گزينة  -66

  »؟نيستيك از موارد زير صحيح  طبق پاراگراف اول، كدام«ترجمة جمله: 

  »يك خودروي سواري چهاردر از مريخ نورد جديد بسيار بزرگتر است.«

  مطلب) (درك

----------------------------------------------  

 (محمدمهدي ملكي)  »3«گزينة  -67

  »در پاراگراف اول به چه چيزي اشاره دارد؟ ”it“ضمير «ترجمة جمله: 

  »ربات جديد«

  مطلب) (درك

----------------------------------------------  

 (محمدمهدي ملكي)  »2«گزينة  -68

در پـاراگراف سـوم، از نظـر    » مانع«به معناي  ”obstacle“كلمة «ترجمة جمله: 

  »ست.تر ا نزديك ”barrier“معنا به 

  مطلب) (درك

----------------------------------------------  

 (محمدمهدي ملكي)  »1«گزينة  -69

ريـزي بـراي    طبق پاراگراف سوم، ماكي و تـيمش در حـال برنامـه   «ترجمة جمله: 

 »صرف زمان كار كمتري نسبت به دانشمندان جي پي ال هستند.

  مطلب) (درك

----------------------------------------------  

 (محمدمهدي ملكي)  »4«گزينة  -70

  »هدف اصلي متن چيست؟«ترجمة جمله: 

 »هاي موجود در مطالعات مريخ نشان دادن پيشرفت فناوري«

  مطلب) (درك
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